Mozuumsa

=]

10

11

12

13

14

15

16

17

18

19

20

21

22

0603HaueHue
KL000O0O01-00
LS.801.000
1S.620.004

d3 Ball

L5.620.003

M4x8 DIN913
KL000002

4x12 DING325
4x18 DIN6325
3x14 DIN6325
M4x4 DINS13
M5x20 DIN913
LS.700.002

M5x12 r0OCT11738
L5.000.006

M5x35 TOCT11738
LS.000.007

Méx12 DIN7991
Barrel 6,35x12x250
15.900.032

29x2 0-ring

1S.800.031

a -

HaumeroBaHue
Kopnyc
JaThUBHHK
MpyxuHa

Wliap

Kpuiwka

BuHr
Pesepeyap
Wit

Wmdir

Wmdir

BuHr

Bunr

CkoBa

Bunt

Pykostia

BuHr

Kpbiwka

Bunt

Creon 6,35x12x250
Mopeparop
KonbLo ynnoTiuTensHoe

Konnavox

Konuyecreo, wr



Mo3Muma

=)

10

11

12

13

14

16

17

18

19

20

21

12

13

24

KL000001-00 Kopnyc

14

0Bo3Havenme
L5.900.048
L15.630.015
15.900.020
15.900.045
L5.900.045
15.900.041
5x12 DIN6325
L5.620.004
d3 Ball
L5.900.005
3DfKit.015.000.026-01
L5.900.044
15.900.022
5x20 DIN6325
L5.900.047
L5.900.043
A00000922
15.900.023
L5.900.003
15.911.000
t15x4
L5.900.037
15.900.013

M6x20 1507380-1

HaumeHoBaHue
Kopnyc

Brynka

Brynka

Mpy#una

Brynka

K

Lt

MMpyxuHa

Wap
lpenoxpaHuTent
Wmdm

LWentano
MpywunHa

WmdT

MpyxuHa
HanpaenaoLas
YnapHuk
PykosTka
Kptoyok cnyckosoit
Y3en perynupoeku
MartuT
lMnactuHa
Mnacruxa

Bunt

17

Konwuecteo, wr

1



KLO00002 Pe3epayap

Mozuuma

=]

10

11

0bo3HaueHme

L5.600.003
L5.620.000
18x3 O-ring
LS.600.004
$10x1,5
28x1,5 O-ring
KL000100
18x2 O-ring
KLO000OS
LS.640.000

L5.600.0035

HaumMenosaHue
Pesepeyap

Mpobika 3anHas

Konblio ynnoTHUTENBHOE
Konbuo

Marmur

Konblio ynnoTHHTENBHOE
Penyxtop

Konslo ynnoTHUTENBHOE
Mpobka nepenxan
Knanan

Mpywuna

Konuyectso, wt

1



KLOOOOO5 TNpobka nepeaHss

Mozuums

=]

10

0Bo3Hauerme

KL000006
KL000008
KL000007
15.630.013
8,5x2,5 O-ring
M4x4 DIN913
4x24 DIN6325
3x12 DIN6325
d3 Ball

3x1 O-ring

HaumeHoBaHue

Mpofka nepenxas
Brynka

Ponuk

Brynka

Konblio ynnoTHUTENBHOE
Bunt

Wmudr

Wmdr

Wap

Konbuo YANOTHHTENBHOE

Konwuecteo, wt

1



KLO00100 Pepnyktop

Mo3nums

=]

10

0Bo3Havenne

15.610.006
A00000959
12x2,5 0-ring
KLO00110
8x1,5 O-ring
5x1,5 O-ring
15x8,2x0,8
KL000101
KL000102

3DfMat.001.001.005

Hanmerosaxue

(rakaH

Kopmyc Hu3koro naenexus
Konblip ynnoTHUTENbHOE
Likok

Konblio ynnoTHuTENbHOE
Konbuo ynnotHuTenshoe
TMpy#mHa Tapensuatas
Kopmyc BbICOKOTD JaBneHus
Nioza

Cronop

Konwyecreo, wt

1



LS.620.000 Mpobka 3azHss

Mo3uums

0fo3HaUEHUE

L5.620.005

d3 Ball

M4x4 DIN913
2,57x1,78 O-ring
M3x6 DIN7991
5x2,5 O-ring

MN100000

L

HaumexosaHue

Mpofka 3aaHAn

WWap

Bunt

Konbuo ynnoTHuTensHoe
BuHT

Konbuo ynnoTHuTenbhoe

3NEKTPOHHbBIA M3MEPHTENbHBIA KOMMIEKC

Konwuecteo, wt

1|



LS.801.000 3arbinbHuk

Mozuumua

i

0603HayeHHe

15.801.101

L5.800.003

15.801.102

3x12 DING325

M6x25 r0CT11738

HauMenoBanue
3aThiNbHUK
Mpywuna
Cofayka
LLTuaT

Bunt

Konuyecteo, wr

=)



LS.911.000 Y3en perynuposku

Mozuums

0603HayeHme

15.910.002

15.910.005

d4 Ball

15.910.004

15.910.006

HauMeHosatme
Kopmyc perynuposkiu
Mpy#mna

Wap

[aika perynHpoBKH

BuHT perynuposku

Konuyecrso, wrt

1



